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N = 0l & At & M A
P021HE £ 135 YEN DIHTSSSLR
SN DRSS
I 2 0HRSAT 23
Sl Dl FMAY CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
EFET=1=E" 4,429,736 2,841,236 1,588,500
2 75,000 0 75,000
= 116,769 16, 131 633
2 4,237,967 2,725,105 1,512,862
23 nEAAY 235 1,075,415 670,415 405,000
= 81,871 81,871 0
[ia 993,544 588,544 405,000
D& a4y 240,364 235,364 5,000
SEZANAZE 29 32,324 27,324 5,000
201 Y2 bl 10,000 5,000 5,000
01 AR 22l 10,000 5,000 5,000
OSEEANVME 28 5,000 0 5,000
EEERA 817,131 417,131 400,000
< 81,871 81,871 0
2 735,260 335,260 400,000
ATNEINNH 2 641,436 241,436 400,000
401 NEHIL 2 THYI 400,000 0 400,000
01 A&l 400,000 0 400,000
OUDEFUSERIRE 24 S 2 Ad 400,000 0 400,000
e 200,000 0 200,000
-2 % 120,000 0 120,000
-2 80,000 0 80,000
ez =x 39,600 36,000 3,600
Chel & 2 39,600 36,000 3,600
HEHBMD2L 29 39,600 36,000 3,600
202 01t 7,200 3,600 3,600
01 =L o1 bl 7,200 3,600 3,600
L EEEEEIS] A 7,200,008 7,200 3,600 3,600
2 dANY =A 1,202,376 202,376 1,000,000
2 @AY =7 1,202,376 202,376 1,000,000
FoeE 2F(HY) 8% L B4 1,202,376 202,376 1,000,000
401 N EHIRL 2 THEI 1,200,000 200,000 1,000,000
01 Al 1,200,000 200,000 1,000,000
Ozze2lHe 2 (2Y) 24 1,000,000 0 1,000,000
BYSSHN 25 2,008,675 1,918,779 179,896
2 75,000 0 75,000
= 34,898 34,260 633
2 1,983,777 1,879,519 104,258
BASETA NE =X 427,112 248,112 179,000
2 75,000 0 75,000




SN D E S
Y BASSHM 1S
Sol: ASISTA XY FX (el @ e)
SN B SR(EA) - MBAY - BES 0l &t o p/E-T HDE2
= 352,112 248,112 104,000
Aot BADE B3 NS ALY 179,000 0 179,000
= 75,000 0 75,000
2 104,000 0 104,000
201 Yete | 92,000 0 92,000
=2 40,000 0 40,000
2 52,000 0 52,000
01 AR 22|t 92,000 0 92,000
OSUgY H2SII(SH) 8,000 0 8,000
= 4,000 0 4,000
2 4,000 0 4,000
OXO0Pots BAsts SEES 3ty 29 24,000 0 24,000
2 12,000 0 12,000
2 12,000 0 12,000
OBM WD Lrs CXE sty 12,000 0 12,000
= 5,000 0 5,000
2 7,000 0 7,000
OXBY RIs 2Y 22 15,000 0 15,000
OESEY! ARESIH YEBE 28,000 0 28,000
= 14,000 0 14,000
2 14,000 0 14,000
OLEIU® B4sts olg2e = 5,000 0 5,000
= 5,000 0 5,000
307 812t01 & 87,000 0 87,000
2 35,000 0 35,000
2 52,000 0 52,000
02 BINAMMNLER 87,000 0 87.000
OSUYY #=BSI|(SH) 20,000 0 20,000
= 10,000 0 10,000
2 10,000 0 10,000
OMOISts TE2ME (M2 NSREH) 17,000 0 17,000
OUMNZ E2E YHDF 20,000 0 20,000
= 10,000 0 10,000
2 10,000 0 10,000
O0F2 CHZ )X e 10,000 0 10,000
2 5,000 0 5,000
2 5,000 0 5,000
OUMZEZHE(0{H0l Als RF) 20,000 0 20,000
= 10,000 0 10,000
2 10,000 0 10,000
TS LG X B 254,073 253,177 896
< 2,398 1,760 638
2 251,675 251,417 258
M2 =8t At X2 13,635 14,777 AT,142
308 XX € X S0 ™ 13,635 14,777 AT, 142
11 B 2SO CHEt 2 & & 2 AL b 13,635 14,777 AT,142
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M BUSSHA 75
el QYLD N (e9: & 9)
£ - HA(ZAH) - NRAMY - BES Off &t 24 INEH Hus2
OB=st A sA=22 =224

23 13,635,000 13,635 14,777 A1, 142
CH8ta B X3 01X Xl & 6,438 4,400 2,038
< 2,398 1,760 638
2 4,040 2,640 1,400
308 XX M SO0l & 6.438 4,400 2,038
= 2,398 1,760 638
2 4,040 2,640 1,400
11 B2 SOI0HE 2 & S 9 AL 6,438 4,400 2,038
OWsty stX2 OINKE 3 6,438,0008 6.438 4,400 2,038
= 2,398 1,760 638
2 4,040 2,640 1,400
WRes(DAESe ) 4 0 4
SENE(DHHSEYD) 4 0 4
bre 4 0 4
802 Bt 2| 4 0 4
BIEREESETTEE 2 0 2
OHQSHDSXAAY BHeH3(2020) 2 0 2
02 Al - CHIRZZ8reZ 2 0 2

OHUIHSSAAZ(I2UILHHES SEX
&) 2 0 2




